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Yukaridaki  eslesmelerden hangisi
dogrudur?

A) a B) b O ¢

U

have you got?
O }R

Yukamdolq diyalogu tamamlayan
ifade hangisidir?

A) | have got three balls.

B) | havent got a ball

C) | have got red balls.

ﬁ% How many bal ls

----a - - - - got

fifteen blocks
in my toy box.

chess board in
my room,

7

[— - - - six toy cors.]
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Yukaridaki bosluklardan birini han-

gisi tamamlamaz?

A) | have R) There is

C) Are there

Adi, Sogodu ......................................... @ SINF1 /7 NOU oo
Test B 4, Asogldoki tablo Paul, Joe ve Simogm
‘ odalarinda bulunan nesnelerin sayi-
; L larini 9ésterme|<teo|ir.
a. green b, blue c. red IN MY ROOM

& W, g5

Paul v/ X v
Simag v v V4
Joe X v° Y

Yukaridaki tabloya gére hongisi
yanlistir?

A) There are three toy trains in
Joes room.

B) There isnt a ball in Simogs room.

C) There isnt a kite in Paul's room.
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There are six - - - -

R

There are five - - - -

WWWW

There are four - - - -

Yukaridaki  bosluklart sirasiyla  ta-
mamlayan kelimeler hangi secenekte
verilmistir?

A) balls / toy planes / toy trains
B) dolls / trains / marbles
Q) playing cards / chess board /

robots
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6. “How many dolls have you got? 9. }."
What colour is your lorrg? gf 2 5
Have you got a chess board? 1. | 4., got
Yukaridaki sorulardan birine cevap four 3.  robots
olmayan secenek hangisidir? have
A) Yes, | have. B) | have four Dogru bir cimle olusturmak icin
O) | have two lorries. arinin takip etmesi gereken yol
hangi secenekte verilmistir?
7. Rosa: What colour is your - - - - ? A) 4-1-2-5-3
Tina: Itis - - - - . B) 3-5-4-1-2

C) 2-3-5-1-4

Yukaridaki  diyalogu  tamamlayan
ifadeler sirasiyla hangi secenekte
verilmistir?

A) tog car / blue
B) ball / green
@) teddy bear / brown

8. Have you got a || - - - - . Yukaridaki gérsele gére hangisi
grey toy car? Merte ait bir diyalogdur?
V4

A) a: Have you got a doll in your

~ ~N
a9

3
)
)

T - room?

C I b: Yes, | have a doll.

%./:‘ ﬁ% B) a: Have you got toys in your

room?

Yukaridaki diyalogu gérsele gore b: Yes, | have.

i ?
hongl ifade tamamlar C) a: How many toy cars have you
A) No, | havent B) Yes, | have got?

C) There is a grey car b: | have two toy cars.
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